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7,0003 «8H 25 1,400
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2N
X ZH -
L= B

el

Mg

sSdI N
NnE g8 (s+sdnsS/Hsns - 28SIIH)
ANDEAMNS(CAIDSMTSLSA)

SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
02 3294l 235,320 232,920 2,400
O1.383224HA 180,520
—=8HFEX VUHE RE= 131,200,000& 131,200
~NSKNEXNSE MA3SUH2 3,000,000& 3,000
-2 01 e CCTV 46,320
Sl AMES 190,000 *200H = 12& 45,600
Sl AtEE 30,0003 *2CH x12& 720
O3. A& &Hl s Xibl 38,800
-SEHF=EI HEEH |A22l
4,000,000& 4,000
—=SYHFEX RS CCTV A2 24|
100,000& 160 x 12& 19,200
- & Itni2H(CCTV) | X 22l
200,000 =20 x12& 4,800
-~UEHE © 2 JtAH I HMAMAIAE A2
ul] 800,000& x12& 9,600
—AMEIIE BEiEsY HAAAE S|
100,000& = 12& 1,200
O4. Xt & & | 16,000
-5 & 4,000,000& 4,000
-2 6,000, 000& =2CH 12,000
202 O B 2,700 2,700 0
01 2L Y| 2,700 2,700 0
Ol E MEds R2FAAYI
60,0003 *3YH 32 x53] 2,700
301 dEtE A= 86,933 109,524 A 22,591
08 B2U2RLIEM= 86,933 109,524 N 22,591
OMI=ERA 86,933
PiR==1 17,0002 15 =128 21,060
-S4l H| 7,000& *15H x222 x12& 27,720
- EH| 2,400 *15H x222 x 128 9,504
= PN gmE==J| 2,400 #15H x222 x 12& 9,504
-0F2t =2 Al Y| 6,000& x8H 20 x12& 11,520
=225 140,000& 15 13| 2,100
-gst= 140,000& *15H x 13| 2,100
-2 Xt 5,000& *15% 13| 75
-ct 3t 35,000& *15H x13] 525
-JIEH(OFZ =) 25,000 15«13 375
-SR4A BALG SAXZ 2,000,000& 2,000
-CH2 g==dtl 15,000& x15Y 2 450
303 T4 3 6,000 6,000 0
01 ZAZ 6,000 6,000 0




A REWEDY
M SANS 243 (+SLUE/HEUE - SFSIIEH)
Sl SANSML(ZARSASSLESA) (&)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSYH=3X HEE NHE A-ELa3
6,000,000 6,000
401 Al HIZ 2018 40,216 80,720 A 40,504
01 A& HI 40,000 80,000 240,000
OSolc=3tHet(MZe 2g) &X
40,000,000 * 104 & 40,000
3 AIE S 216 720 A 504
O H=E3t0et €3 AIE20UHI
40,000,000% *1.08/100+50%<& 2> 216
SEN FXE 2 (xsLuS/UHEL FSSIIE 1,042,509 296,073 746,436
FANEMS(TARNSAEELESIA) 1,042,509 296,073 746,436
FXHEANS 22 12,880 12,880 0
201 Let249] 10,000 10,000 0
01 At 22l 10,000 10,000 0
O6.28xt= 10,000
—usSAas ol E A dX=
100,000& = 10CH x 103! 10,000
202 oddl 2,880 2,880 0
01 = LH 4 1l 2,880 2,880 0
OFAET2elArY 2=
60,0003 *4H *x3 43 2,880
SI=IE 2l 32,200 82,200 A50,000
201 ¢er24| 2,200 2,200 0
01 At 22l 2,200 2,200 0
O1.det==2Hl 2,200
“DYFNE FHE Ha
100, 000& *1JH 2 *43] 400
-SEFIE S EH 450,000& *43| 1,800
401 Al HI K 201 30,000 80,000 A50,000
01 A& HI 30,000 80,000 A50,000
OZE=XE AlE |RXE= 30,000,000 1Al 30,000
SEF=NETH 860,568 138,300 722,268
201 24l 138,300 138,300 0
01 At 2t 2l 138,300 138,300 0
O6.2dxt = 138,300
“EE NUEIE SNYRE
4,000,000 x12& 48,000
S O0AE SEFIHE AL BX S
= 86,000,000 86,000
“SUIRE DEFEXNY FUAL 2X LNE
4,300,000& 4,300




2N DS
M 580l FHE V2l(+ELDE/HEDE - SRSIIE)
©@Hel: FUHEMS(TANSASSESA) (22 &d)
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
401 AIEHI L 2CHYI 722,268 0 722,268
01 A& dl 720,000 0 720,000
Og+s LAFxa &X 20,000,000 14 20,000
Oolcs B2EF=x&d &X  700,000,000& »14! 700,000
03 Al2 2 THHI 2,268 0 2,268
OBI=XNE X4
720,000,000& *0.63/100+50%<& 2> 2,268
ol gl Bl 136,861 62,693 74,168
801 olBIBI 136,861 62,693 74,168
01 oilBl bl 136,861 62,693 74,168
OZANLUSAHSESH odibl 136,861,000 136,861
HY2AAH (LSHH D) (IIEHIIE) 410,029 368,914 41,115
OHAIH(SARSAMHLSESA) 269,808 207,454 62,354
AL (SAI NS AY) 248,382 187,178 61,204
101 @124 H] 248,382 187,178 61,204
02 JIEt& 2= 248,382 187,178 61,204
OgerdIIM('T'E:nsI&) 45,791
-3 35,580,000& x1H 35,580
“AN2RIZ2RE 7,508 x 1 x35A| 2t 12 3,154
-tEsg 960
© R A 40,000 «1H 128 480
JIERIFE 20,0003 «2H » 12 480
-NHUASHIE S 448,000 12 %435]%32/40 1,434
-Ag 2 x| 155,000 »1H «12& 1,860
- g Al 130,000& x1& x12& 1,560
-l syl 50,000& 122 600
s ) ] 35,580, 0002 *84%+*86%*9/360 643
OANZMIIM('OH' S8+ SHFEX ©K) 89,611
-gs 19,659,500 x4 «32/40 62,911
At 2R E 3,319 +4H »10A| 2t+ 128 1,594
-tEE 2,880
bH <= Xt 40,0003 4% « 122 x32/40 1,536
JIERIFE 20,0008 «7H 128 *32/40 1,344
-NHUSHHIE = 448,000 12 %435 %32/40 1,434
- g2 x| 105,000 »4H 123 x32/40 4,032
-dAg Al 130,000& x4 x 122 6,240
-QiOtE & H|
1,310,630 x4 x78%*86%+1/226 Al 2+ x84 Al 2t 1,308
-AHEE JI2RE= 80,098,000& *11.5% 9,212
OANZEMIIM('OHES: 57 SHFEX ©X) 110,280
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2N
X ZH -
L= B

el

o o2 kJ

sSdI N
H2gZo(nsS&8E ) (IIEH/IIE)
A2HH(SADEMSSESIH)

CEE O (BAH) - NRAY - B2 O 4t o8 il
i 19,659,500 x5 x32/40 78,638
-AZ2t 2R 3,319& x5 x10A| 2tx12& 1,992
s 3,840

il 2 Xt 40,000 x5H « 122 x32/40 1,920

JIEDIS 20,000& *10H 12 %32/40 1,920

=y | 105,000 x5 » 128 *32/40 5,040

-HHZAH| 130,000& x5 x12& 7,800

-2 A H|

1,310,630 x5H x78%*86%* 1/226 Al 2t x84 Al 2+ 1,634

-AES J|&a2g=2 98,568,000& *11.5% 11,336

OSYHFEX &= AIZEM DM Ll =4l 2,700

=225 130,000 9 x 13| 1,170

-ghst s 130, 000& x9Y 1,170

-2 X 5,000& x9H 45

-Ctgt 35,000 *9H 315

EMHOESAY(ZTADNEAY) 21,426

101 @121l 21,426

03 RINHA=22XNHE %= 21,426

OSYHFTHI PoHEMSA AQHI(S) 21,426

A== 38,880 1 x313Y 12,170

-3 12,170,000 1 %x1/12%300% 3,043

-HE S| 12,170,000 *1H x1/12%120% 1,217

-HHZAH| 80,0003 1 128 960

-IEs" 40,0003 x1H ~12& 480

-2 I =2 38,8803 *1H x22 % 12& *50% 467

=54 38,8803 1% 52 2,022

PN, 38,880 x1&H x17L 661

-g3=24 12,170,000 * 18 %1/ 12%x20%*23] 406

[2HHI(CAIDNSAIHEESH) 140,221

A2 9,781

201 Bt A H| 9,781

01 AR 22l ] 9,301

OFMS8Y LBt=2H| 4,660,000 *95%<& 2> 4,427

ORANEYE 2l 1,890,000 1,890
OZ2AD], ZelH, PAESI| KA

200, 000& =7CH 1,400

O=A| &xt& 132,000& x12& 1,584

02 3244l 480

ORANEYE 35322 480,000 480

R =X Y| 126,240




BN DEHH
M M HAH (WSSHE W) (IIEH/DIE
S JI2HU(SEAIREAILSELES H) (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
202 04| 126,240 150,720 N 24,480
01 2Ll 126,240 150,720 AN 24,480
OFIE2=ANY| 20,000 28H 10 12€ 67,200
OAMZEMILIOIH =P RFX0id] 21,600
-2 32 20,000 x4 x 10 x12& 9,600
-=3 20,0002 x5H 10U x12& 12,000
OFFAY S22 FRADEI Y| 37,440
-3 20,0003 x6H x 12 x12& 17,280
-=3 20,000 7 x 12 x12& 20,160
A2 FXH| 4,200 4,200 0
203 € R =& 4,200 4,200 0]
04 EASHEIRFAH| 4,200 4,200 0
ORNSLLRTAY (BE:27Y)
350,000 x12& 4,200
HEES(DEHZH}) (=L WNE/HEZWE - S2ESIIEH 2,066,095 1,900,367 165,728
HEHAHKNS(SADEANIAELSH) 2,066,095 1,900,367 165,728
A2 BE2(2Z2A&E) 2,066,095 1,900,367 165,728
309 =2 2,051,095 1,893,967 157,128
02 BAH- 2HINMNNEZ 2,051,095 1,893,967 157,128
OANEZ2 BT BZ2ALEE ANEE2 2,051,095
-SSFIE 2,051,095,000 2,051,095
104 2| A=2ME2 15,000 6,400 8,600
02 Z2AH- SHASEE2 15,000 6,400 8,600
OANEZLZ2C ZZANEE AN=2ds52 15,000
-SYFEXE 15,000,000& 15,000




